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Max Z=2X;+3X,
Subject to constraints :-
2X1+2X, < 160
Xi+2X, 120
4X:+2X, < 280

X1, X, =20
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Max Z =600 X; +400 X,
3000 X; +1000 X, = 2400
1000 X; + 1000 X, = 1600

2000 X, + 6000 X, > 4800
X, X, =0 X, X < 30
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The general linear programing ( L.P ) problem.
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min 7Z=3X;-3X2+7X3
S.to :-

X1+ X2+3X35 <

X1+ 9Xp-7X3 = 40

5X1 + 3X> = 40

5X2 + 8X3| < 100
X1,X2= 0 X3 unrestricted in sign

Solution :-

max Z=(—3X1)+3X2 —7(Xs +X3)

S.to

X1+ X2 43 (X3 + X377 ) < 40

—X1 —9X2 +3 (X3 +Xs”) < —50
5X1 + 3Xz < 20

—5X1 =3X: < =20

5X; +8(Xs' —Xs”) < 100
—5X; —8 (X5’ —X3”) < —100
X1,X2=2 0 X3"¢X3" = 0
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max Z=2X1-4X:
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3X1 + 5X2

4X1 + 9Xz2

X1,X2=2 0
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max Z-=2X;-4X,
S.to -

3X;+5X,-S;, =15
4X;+9X, +S, = 36
X;,X,,81,82 > 0

max Z-=2X;-4X,
S.to .-

-3X;- 595X, < -15
4X;+9X, < 36
X;.X,=2 0
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max Z=AX;+ Xy
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X1+ Xy
2X1 + £X;

X1,X; =2 0
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=) X, =30 (0,30)
) X; =30 (15,0)

) X;=12 (0,12)
) X =24 (24,0)
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X1+ 2X2 =60 } 4X1 + 2X2 =60

X1 +4X; =48 F4X1 ¥ 8X2=+96

— 6X2=— 36 mm) X2=6
C(12,6
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Z = 8X1 + 6X;

Z=8(0)+6(0)=0 ~. optimal solution
7 = 8(15)+ 6(0) =12 X1:12 ) X2:6
Z =8(12)+ 6(6) = 132 Z=132

7 = 8(0)+ 6(12) = 72
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